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) 2 The first chemical used as herbicides

(A) Paraquat (B) Diquat

M 2,4-D (D) Simazine

wWpsan WPselé LwaTUuBRSSULL L senard Qarae 6rg)?
(A)  umym @eur B) e @eurl
©C) 24-y4 (D) Awrélen

2. The herbicides used for potato are
(A) Pendimethalin

M Fluchloralin

(C) Butachlor
(D) Atrazine

2 menersSpmdnE LweaudSHID samerbamaedlwumeuet
(A) QuemgQuggmediler
| B)  yEnEGemmyedlen
©) yrrreGermi
D) sighen

8. ———————is an example for preemergence herbicide

\m Butachlor

(B) Glyphosate
) 2,4-D
(D) Isoproturan

efleng/Ludit apeneriiLéE e AgallEEd smar@arded geanlar Auwers sapayb
A  yrorrsGerri

B) deameturGeavl

© 24-y4

D) @CevmyGrmgymen
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9. A particular procedure used by the seller to achieve a marketing goal is referred to as
(A) Marketing mix
(B) Marketing process
(C) Marketing segmentation

y‘ Marketing strategy

éﬁ]@ummu.:rrmr’r san Cpréssams Lisd Geliw eswm@sb (paneaw Bl DHMPESOTLD
A) spazsifse soiy

B)  sposGsD o

©)  spepuipse Gfey

D) eposPss usd

10.  The programme of the total farm activities drawn up in advance is known as
(A) Farm Budget
(B) Farm Finance

(C) Farm Production

M Farm Plan

PL B Hwrgs LamamearsEorear Qawadun® upBiu e 4w Fapas Hrd Asmey
A)  uemenenr aupey Qeewey HLL b

(B)  uawrene f&

©) ueaween 2 HuSH

D)  uvamemen S L b

11.  The objective in planning the allocation of resources is to —————— the profit.
" Maximise (B) Minimise
(C) Optimise (D) Stabilise
uamenent Y srymsmen Lfibselss L Hsdear Corésd, @rusms ‘ 2GLD.
@A) sfsfiug : (B) @enliug .
©) suPssieug D) soflemalu@sgieus
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12.

13.

14.

The Factor — Product relationship answers which of the following questions

(A) What to produce?
(B) How to produce?

M How much to produce?

(D) When to produce?

@EQurmer — eflevar@unmer @enL Cuiwirer FOUBSD Spsar ahs ellameilHe L weafsdpg.

(A)  eranen 2 HuFH Qaiicug?
B) elug 2 pusd Qalieug?
(C) ereuauarey 2. puSH Gslieug?
D) eau@umys 2-HusH Qsleug?

Farm Management is called the science of

(C) Management
(D) Budgeting

uamenan Goararatn Difleflwe eremug)
A  pylaupsse

B) uemenent

(C) CGuereameno

D) eurey Qewvey saTsE

SMCR — Model was proposed by

(A) Shanon-Weaver : %erlo

(C) Schramn ®) Aristotle

SMCR wrffleow ghuBsdweurt

(A)  egemmen — afeu B) QuiGermr

(C)  agymbd D) <ifevLmge
T
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18. Moisture content of the mushroom

(A)  70-175% ' ®) 75— 80%
©) 80-85% | W 85 — 90%

srermeflen FFUUSD
A  70-75% B) 75-80%

(C) 80-85% (D) 85-90%

19. Tricholoma giganteum is a

M Milky mushroom

(B) ~ Pine mushroom
(C) Button mushroom

(D) European mushroom

Tricholoma giganteum erérug) G
(A)  ume srermen

(B)  ewuer smarmen

(C) Qum_ (& srermerr

D) Crmulws srermen

20. The first oyster mushroom variety released by TNAU

(&) MDU.1 B Col

(C) APK.1 (D) Ooty.1

SOHTH CoueTranr LLSMOESPESSTED (LPSET wpsedler QauafludLiul L Slbssmenmen @ s
(A) MDU.1 B) Co.1

(C) APK.1 (D) Ooty.1
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21.  For every 25 rows of cabbage two rows of ——————— raised as trap crop to manage
diamond back moth.

(A) Coriander
M Mustard

(€) Carrot

(D) Turnip

gaQanm 25 afles Lo Ganss@n @Qran® auflas GUETTLILISTE) eneUTPSIS
3B Wfleow s_HULBSSOTD :

(A) Q&nﬁguo_é.)eﬂ

B) &6
©) Cay
D) el

22.  National institute for Plant Health Management is situated at

(A) New Delhi .
W Hyderabad

(C) Bombay

(D) Kolkata

Caélw LT ssrgTy Coararan Haawib Sewbgerer @L b
A)  ug Heodd

B) eansrTUTE

(C) wbumi

D) sosssT
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23.

24.

25.

Microorganisms used in the biological control of plant disease are referred as
(A) Predators
(B) Parasites

W Antagonists

(D) Biofertilizers

2 uiflwe q;)a)gp Cpmi sL@u-L:unan.s'o vweruBSsuLmIb merrauilfgefler Quwir
(A)  oaer eflprudlaer

B) g Gearaflser

© a9 pengiser

D) oW o grser

Application of fertilizer before or at the time of sowing is known as
(A) Top dressing |
Basal application
(C) Split application
(D)  Sub soil placement

" e grsmer euwelle LulTseT eflengsE e QB eug eTeuaurn SimPasILIHE DS ?

(A)  CGoginb @Bz

B) sy Yoz

(©) Qfgg 2 mb @BHsw®

D) wveawefinE & 2 Mol

Breed of buffalo with tightly curved horn is
(A) Nili - Ravi (B) Jaffarabadi .

(C) Mehsana ' Murrah

GLeLwiren e Q&ETbLenL I GT(HenLD @ed
A) Bl —gmell . _ (B) grurumg
(C) Cuwsmrenr D) qprgr

11
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29.

30.

31.

During "Milk Fever" the body temperature of cow will be

\M Subnormal

(B) Normal
(C) Increased
(D) Fluctuating

“UMTQSMUEFED" et LML ig6r 2 L e Qeuliu flenewirerng
A) EonbHE sraTUU®D

B) @wuyCu GméEwD

©) =fswrdls srariiu@Bn

D) wrs QasrarGL @m&ELD

Average fat percentage of Indian Buffalo Milk is
A 4% B) 4.5%

©) 3% ‘ @f' 8%

@pHw ermenwo wrRseien uralle o erer srmef Aamly ssflen spelldlgd

A 4% B) 4.5%

©) 3% : D) 8%

Dairy animals are vaccinated in a year against foot and mouth disease.
(A) Once

(C) Four times
(D) Five times

apees LIHSEEEE Caromfl Crmusrear sHLILS argHE —— wpop CurLuBEpg.
A) e yop
B) Qe o
©)  prene pop
D)  @bs pop
13 HORD/18
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32.  Which plant nutrients are highly immobile in plants?
(A) NPK (B) Zinc
(C) S, Fe and Mo M Ca and Boran

ahg LT ssgisser Ludfléd Lulfgyer oiflswns BaT PYWNTSE 6rg?
(A)  sey, wanfl LHYD FTDLIG E55IE&ET (B) &858 mrsn
(C)  sps®D, @HDL WLHYID WrESlLigaId D) STOAWID pmid Gumryer

33.  Brine solution is a
Concentrated salt solution
(B)  Concentrated sugar solution
(C) Concentrated acid solution

(D)  Concentrated vinegar solution

Yenyer senrae eremLig) |

(A) ST 2 Uy smrad
(B) Qi sTES®T SOTED
(C) it sfle samrsd

D) i deafsT smyad

34.  Which vessels should not used for preparation of products like chutneys using vinegar?
Copper '
(B) Aluminium
(C). Clay
(D)  Stainless steel

dilaflseys Qsman® s_afl Gurern Qur@mlsmear sunfléEn Qurpsy — unﬁﬁqﬁmﬁ

2 UCGWNHl&a&amL_Ng).

A)  smimd

B)  uieflwb

(C)  werursSybd

D) sELiyssts ooy
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35.

36.

317.

Which is used as chemical componant for peeling?

(B) NaHCO,
(©) Nacl
D) SO,

Cared 2 MFs@1&E LweTu@W sryU QummeT eTg)?
(A) Gsmguib emanyyrémeH

(B) Gesmguid evu smiuGer

©) Cemgqud @Cerreny®

D) sour oL smEH

Which is the rapid removal of field heat from the freshly harvested fruits and vegetables?
(A) Dehydration |
W Pre cooling
(C) Refrigerated cooling
(D) Cold storage

amish wHmIL LPRismer JNemL QFuge e s@aw Qaliuflomomu 2L Car G@DSsRIES

erement @QUWIm?

A)  gwanGraen

(B)  Sfsmelln

(C) @afitergar Quiiguild emeusg Gefitelissan
(D) @eafitergar smpuile mauss Gafliedisse

Which of the fruit part of nutmeg is used for processing?

(A) Rind ®B) Skin
\V Mace : (D) Flower
grisamid usLuRSENEES &LU@MQIUGIID UGS ergl?
A) Gaefluugd B) GCgre
(C) Gueiv ® u
15 HORD/18
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38.  Example for a fungal nematode complex disease in flower crops.
jp Crossandra wilt
(B) Carnation wilt
(C)  Tube rose root rot
(D) Chrysanthemum aspermy

wei uuilrsefle Coremmib Ly@remean BIHLW sl [ CHmi&E 2 gryawd
(A)  sersmbur urLe CHTL

B) sriCGangen cur_ed Comi

©) HPaosbund Gear s

(D)  smomd QU

39.  The insect pest of citrus where only the adults are damaging stage is
(A) Citrus stem borer
(B) Citrus leaf miner
W Citrus fruit sucking moth
(D)  Citrus butterfly

a@ilémsuile) wp eueriéflwemL b Hlaaule Cassms o am_né@h L &s
(A) ceufiFmes s geeriiLimen

(B)  eaguiiFms Qe GenL b L

(O eaguiiFens Lb 2 HEhaid SHSILILLES

D) ceuiidms cuamensgl L &S

40.  Grubs feeds on roots and nocturnal adults feed on tender leaves and buds resultirig in shot
holes in grapes is

(A) Grapevine stem girdler
(B)  Berry borer

W Grapevine flea beetle
(D) Cockchafer beetles

Frr_emsder Lasar Geursamenud, cuamBadr @rey Crrsde @amaser LHmL Aur Hsaid Hmy
glenergenemyd gHuBHSgieug)

A)  Arriens g Hfeor

(B) uy g@erumen

C) Hymiewe 960 cuar(®

D) smiuf cuer()

HORD/18 16 : =




41. Vector for tomato leaf curl virus is

A)

Aphides
Thrips

W - White flies

Leaf hoppers

saarefl @eadsmer CHmenw LD L&

A)
(B)
©
)

42.  Anti coagulant rodenticide is

(A)
B)

21568 awfl
@mwucudr
QeudTenar =

BSSIL 58

Zinc phosphide
Aluminium phosphide

M Bromodiolone

D)

Ethylene dibromide

168 2-mpane SHEG eTellE0sTe6l

(A)
®)
©
()

s LmevenL =
sigfleflwib ureveu®
yrClomenL_emerr

agdledlen e LCrmeno(®

43.
@

Mono crotophose

@r‘ Carbofuran

©)
D)

Cypermethrin
DDT

smiuCLL euamsmwé srihs s&8phs LFHsQaraed wHmib BrHLw Gsmaed

A)
(B)
©)
)

CurGarm@CrrCGLmumren
SmrGLmLwLrmesr
ansLTlngedlen

ig-15.14. (DDT)

17

is the effective nematicide and insecticide belongs to carbamate group.
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44. Ariange the following methods in the order of sequence of implementation in IDM.
I Mechanical method
II. Chemical method
III.  Cultural method
IV.  Biological method

A) ILIIL Iand IV (B) LI Il and IV
© IV,II,IandII (D) IIL IV, IandIII

Yereumd pemsamer gmhflaanps uudi Goeraremwuld (IDM) @swurEpn euamsuid
auflevsiu®sg. '

I. Qupdreflwd apenm

II.  @gemuest apenm

III. 2 weflwe aen .
IV.  o.u@flwe apenp

A IL IIL I wpmo IV M.III, L IT wpmw IV
(©) IV, 1L I wpmo II (D) IL IV, I whmd ITI

45. A symptom of fungal disease of horticulture crops.

(A)  Phyllody Mnthracnose

(C) Mosaic (D) Vein Clearing

Gem_Lssme Lulisafles Coremmib g Wseamr Crruler <if@H
(A)  uémsly, B) <y pHysCarmav
(C) Cawe Crmi (D) prby QeuEnrssa

46. Directorate of mushroom research is located at
(A) _ Shimla (B) Srinagar

M Solan (D) Siliguri

anemmem rmiEs @uEEGBTSD Siewbgerer GL b
(A) doer : (B) uBpat
© Gonwar @) Adah

HORD/18 18 o



47.

48.

49.

Soil application of Trichoderma Viride effectively controls

(A) Early blight disease

(B) Powdery mildew disease
(C) Leaf curl disease

y Fusarial Wilt

saamaflulley

s_HUU@ssLuBEDg.
A) ensmse Crmi

(B) Guwed embue Crmi

(C) Qaesam L6 Cpmi

D) yCsMwib eume Crmi

Irish Famine (1845) is due to
(A) Golden nematode of potato

\V Late blight of potato

(C) Early blight of potato
(D) Brown rot of potato

Slwrenbg LeEpsd (1845) ghuL smyemrd
A) 2@ ghs HIHUW

B) o_irpmm Qe &(m&e Crmi

(C) 2 meer apenamad Crmi

(D) 2 memer Qabuly (& Crmis

in Tomato.

disease. -

Tissue culture Banana plants are used to manage
(A) Panama wilt

(B) Bacterial wilt

(C) Sigatoka leaf spot

W ‘Bunchy top

Sl& cuemiTliL euenlp SemiGeeT LiwieL (HSgIeuSTed
(A)  wermor eum_e Grmi

B)  ursefwd eum_é Grmi

(C) SsarCGLrar @eamelierafl Crmi

D) y&Qarsg Crmi

19
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53.

54.

55.

Ménganese Chelates contain
A 26%

B) 41%
(C) 63%

& 12%
rhiseais Gl g
A  26%

B) 41%
(C) 63%
D) 12%

Coffee is native of

(A) Brazl
(B) Tanzania
(C) Kenya
Ethiopia
&TUGEE sTWSLD eThS HT[H
(A) QGrée
B) Lrensraflum
(C) Qsemur

D)  easHCumnQuir

Coffee belongs to the family
Rubiaceae

(B) Camelliaceae

(C) Rutaceae

(D) Anacardiaceae

&9 ahs GO DLUSMSE STTHSS

A) 9GS
(B)  GawaGws
©) @ CLA

D)  sesnigGud

% Manganese.

&5 LOMEIGEE: 2 6TeTg).

21
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56. The leaves of Aleovera has to be processed within —— hours of harvest.

M 36 B) 24

(C) 48 (D) 16

ereucueney GCrrsHna@er smeuamL Gealw Cerpms sHprepew usiu®HESs Ceudm(Hib
(A) 36 wenfl B) 24 wexfl
(C) 48 wenfl (D) 16 wenfl

57.  What is the botanical name of Kalmegh?
M Andrographis panniculata
(B)  Andrographis affinis
(C) Andrographis alata
(D)  Andrographis elongata

HlewGeubGlern greugeflue Quwi eremean?

A) ear@Crrdrmen ureflé@EGer L r
B) er@Crrdymien 29eflen

©) <an@Cyrdlymien SjeomLm

D) ear@Crrdlgmien erammCsLr

58.  The house hold medicine ‘Alui’ is prepared from which medicinal plant?

W& Kalmegh
(B) Phyllanthus
(C)  Periwinkle
(D)  Glorylilly

aipaafler swmr Qeuwuu@D ‘@I’ LHHE ThHS apellas Qg L kdwug
@A) feoGanby '

B)  SprQmeed

©€) HsHusadwmenfl

(D)  saweud Aypni

HORD/18 22




59.

60.

61.

Sanitary pruning is done in the crop

(A) Cashew (B) Coffee
(C) Tea @ Cocoa
srafl_f saurggl aperm s Luifled AawLLGEDS)

@) s | ®) s
(C) Csulieva (D) GarsCsr

Choose the sweet basil variety

(C) CIM Ayu
(D) CIM Kanchan

@efluy gianél rasHamen Gairey Cswis

A) sarsgm
(B) CIM smsernm
(©) CIM =y

(D) CIM angpeen

A 3 year old plants of Lemon grass will give an oil yield of
(A) 250-300 kg/ha
(B) 15-20 kg/ha

&7 200-300 kg/ha
(D)  30-40 kg/ha

3 'GU@L_ QUG GTILOESLD Li6) GTHL(hé(E CTEUCETEY GTammRlenTIL LO&EGH SHLD-
(A) 250-300 &lGar/eré

(B) 15-20 fiGerr/ers

(C) 200-300 HiGeorr/eré

(D) 30-40 &iGer/ers

23

kg/ha.

HORD/18
[Turn over




62.  Which is called natural depression garaen?
Sunken garden
(B) Green house
(C) Trophy
(D) Topiary

PupamsiCa uetargs) LUkisT arany erang iampsdGComd
(A) sansen s

(B)  usew Gy

©) wyma

D) GCLmAwM

63.  Which component is called as garden adornments?
(A) Flowers : (B) Creepers
(C) Lawns " Statues

Yhsmeild @UUmen aem o8 Si®WssLILOEHDE?
A) ysser B)  upps Qamgser
C) ye seyser . D) Seeser

64.  Which are the flower colours called as pnmary colours’ in the garden?

M Blue, Yellow and Red

(B)  Orange and Violet
(C) Blue and Yellow
(D) Yellow and Red

ywuaereile Ansdhésns euemtasiiLGD g,&aserﬁar g Hohser @gma)m B
SnpssiuBdng? '

(A)  feb, grser LHYD Aty
B) - ayrEss whpI> s sapn
(©)  feoid wppmitb i@pseT

(D)  wepsar wHYD Hsiiy

HORD/18 24




65.

66.

67.

For Anthurium cultivation, the most popular media used is
(A) Gravel (B) Sand
(C) Vermiculite M Cocopeat

Sh&INwub sTEULEES B&E Sphs 2L &b

(A) s A(B) LDGRTEV
(©) Qaums@amerL (D) CarGsmIl

‘Trimming of plants to shapes of animals, birds, seats etc is called

(A)  Shrubbery

M Topiary

(C) Trophy

(D) Garden adornments

Qe senar O (mEmsET, Upeeuser CLTED suTsg (elag) eraniuw.

@A) @850y

B) CumuQwf

(©) gym4
(D) CsriL SipEser

The grass used for making lawn in shady situation and required frequent watering is
(A) Blue grass
(B)  Chain grass

\ W Buffalo grass

(D) Bermuda grass

HpdLiEHsEssGapn LHYID iigésig. B Qgaflé@Lb Loeums
A) Peliye

(B) smdledll e

(C) Qanss e L

D) QurepLmye

25 HORD/18
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68.  How much flower yield can be obtamed from one hectare of pitchi?

M 11,000 kg

10,000 kg
(C) 9,000 kg
(D) 8,000 kg

@@ a5GLT 968 LR BHE eTeucueTay WO LES;D SenL_SE@b.
(A) 11,000 AGeor

(B) 10,000 &Georr

(© 9,000 8Gan

(D) 8,000 HCerr

69. How long gundumalli flowers remain fresh when treated with sucrose, boric acid, CuSO,
and AINO,?

(A) 48 hours (B) 60 hours

M 72 hours (D) 84 hours

@Bl ymar s&CGrmev, Cunflé oufen wulld gisb wppw Qeuerefl eapl Gy Qasram(
usLUGsHeamme ergsman wenfl Chiyib eumLmod @) @méEh?

(A) 48 we=fl (B) 60 wenf

(C) 72 wenf (D) 84 wenf

70.  Which of the following is not a botanical insecticide?
(A)  Azadirachtin

(B) Rotenone
Neristoxin
(D) Pyrethrum

Qemeumeuaneupfies erg sreury LsAésQameed @ome
A) ey rTéig.er

(B)  QymiigGerer

(C) Qpfevréedan

D)  eufghen
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72.

73.

What is the plant growth regulation recommend as corm dipping in tuberose?
(A)  Gibberellic acid
(B) Thio urea

sbuBdulasar® i CrrsdH Qaliu ahs euartésl emédl LwaTLHSS CauamHLD
Q) BHuredls siflen :

B) @sCumrwfur

(C) &84

(D) QuriLrflwb ep Gyl

Sonia 17, Sonia 28, Emma White are the popular variety in
(A) Carnation
(B) Gerbera
W Dendrobium orchid
(D) Anthurium

Cameflwr 17, Gereflur 28, eribiom uill_ erenp @r&miaeT aThs QsmuLQT uesmW STTHSS!
(A) smiCengen

(B) Qgiugmr

(C) QLenGrmAwid yirdl

D spsiiu’

Calyx splitting disorder in carnation is due to
(A) Zn deficiency

W B deficiency

(C) Cu deficiency
(D) Mo deficiency \

sniGansen wafléd Gspad Daraynisd G@PUTE agamme gHuBEDS?
(A) 5&5sETEEHF G®DUUTLLTER

B) Gunprengsg GeDLILITLL T

(C) smArsss GDULITLLTD

(D) wrlligenEsg G@DULTLLTE
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74.  The good quality sucker which has pointed tip and narrow shaped leaves is
(A) hizomes
Sword sucker
(C) Water sucker
(D) Daughter sucker

gayen plaflu|b, GEmETLLD 2 LI SILOTET GUTEnLE &6 s (@ E ———— erermy QUL
A) sieLsar

B) s34 Qassamser

©) pawa senyser

D) uvsss senmser

75.  Write the origin of Tomato

Peru
(B) South Africa
(C) India

(D)  Mediterranean region

géarafll LT 2 peurear L Lb (STWSLD) 61g)?

A)  Quem
(B) Qger oQufssr
© @pdur

D)  wsHusemrs s

76. Botanical name of tomato

W Lycopersicon esculentum
(B) Solanum tuburosum

(C) Solanum nigrum
(D)  Solanum melongina

sasnafliller sreuyeflwe Quuwir ereman
A) @aCsrQuirdarer TGV @HRVTEITLLD
(B)  Qererend gy Crran

(C©) Qererend epérd

(D) Qsremreand Queerdlerm
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7.

78.

The grade specified by, Bureau of Indian standards in Tomato is

M Fancy

B)
©)
D)

Red ripe
Light red

Breaker

QnHwu srésGuur® fneuand saarallulie aps srsms ufbgamr Qeldpg

(A)
B
©)
D)

Cuend)
2ps flaliy
@earerflaiiy

2 EML_W|LD LI(HeuLd

Seed rate for tomato hybrid in one hectare is

A)

50 — 75 g/hec

M 100 — 150 g/hec

©
D)

300 — 350 g/hec

400 — 450 g/hec

@ aaLfla srEguy Qauw gésreafll aiflu U rasdnée elaswiere ereuaiare) CamauliLBb?

(A)
B)
©

D)

50 — 75 &lymblersLit
100 — 150 &lgmb/ersLi
300 — 350 Slgmb/ersLiT

400 — 450 Sgmb/eréim

29
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79.  Seed rate for hybrid bhendi in a hectare is
(A) 8.0 kg/hec

W 2.5 kg/hec

(C) 5.0 kg/hee
(D) 1.0 kg/hec

aiflw U @& QQJG&TG)L;@ Caeneuwiren eflenguierey?
(A) 8.0 AiCan/eréLit
B) 2.5 HiCan/eréLir
(C) 5.0 HiCan/eraLit
(D) 1.0 sCeonlersii

80.  Which is a virus disease of Bhendi?
(A) Powdery mildew
(B) Downey mildew
(C)  Fruit rot

W Yellow vein mosaic

QeuamrenL_emwis THEGD emeuren Crmit erg?

(A) Cuweegmbue Grmi
B) oqsembue Crmis
©€) uy s

D)  wepser pridoy pEs

81. Papaya fruits are rich in

Vit. - A (B) Vit.-C
(C) Vit.-D . (D) Protein
ulurefll uphisefie 858 HsD 2 _areng).
(A) eeul_L bl - ¢ (B) aeulLibler - &
© el -y M)  yosé edg
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82. Kufri Jyoti is a variety of
(A) Cabbage (B) Cauliflower

,g/ Potato : (D) Radish

®Uf Cyrd eramig erps smisu Lulfler @rsnb?
A) Lo &Csna A (B) usCsna
© eommasdpne (D) qperariid

83.  Guava is belongs to the family of
Myrtaceae
(B) Vitiaceae
(C) Rutaceae
(D) Anacardiaceae

Qamiwr ahg &HLUSMHSE FTTHSE ?

A) OFCLA
B)  aigGud
©) e CLA

D) ensmigCus

84. Which chemical is used to increase femaleness is dioecious type of papaya?
(A)  IBA - 50 ppm
(B) BA - 50 ppm
IAA - 100 ppm

y SADH — 250 ppm

@mureilar uiurefluile Guer Yssmer FalILBSS 6T WHbHlamer LweTuHhss Couam(Hid?
A) g9 —50 996>

(B) Y — 50 Q9erid

(C) @mgg-— 100 Q96w

(D) erevegigersd — 250 N9erd
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85.  Spongy tissue is a physiological disorder in crop.

(A) Sathgudi
(B) Amla
(C) Apple

M Mango

LIEhs e eramp eflenenuied @enpun(® eribg Ludfle Coremmib.

Q)  s5E
B) Gpad
©  <0b6r
D) wr

86.  What is the root stock in pome fruits if there is excess boron in so0il?

M/Iyrobalan plum

(B) Merton 778

(©) Merton 781

(D)  Merton 750

Gumb euens LI wrksmer weanafld Fs etey Curyrenr QMWHEEGWL Gums ahs Geur Cegmw
@08 s Lweru(HSsmd?

(A)  ewCrrumeer Serid

(B) Qi an778

(C) Quwiren 781

(D) Qe 750
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87.  Deciduous fruit trees enter into rest period during which season?

M Winter season

(B) Rainy season
(C) Spring season

(D)  Kharif season

@eawdlit L IEIGE 6THS LiheusHle 2 nés Flenaéa@ Gaaaid?
' (A) @cm&&ném

(B) wenyp sred

©) @eaCauafle sreid

: D)  enfil u@meuD

88. Chooée the correct statement.
Subtropical and tropical fruit crops are ever green in nature
(B)  Subtropical fruit crops are deciduous nature
(C) Tropical fruits are deciduous in nature

(D)  Arid region fruit crops are deciduous in nature

Epaan_ aursdlugde sflurapeap Carey Cawis.

A)  HsGeuliu werr e WHmI Geuliu eRTL 6 L LWGTEET LgsE®L wrpT gamanLo QarewrL_eneu
B) WsQeuliu war e LY LLliTEE G@auBT L LIRSTTELD

(©) Qeutiu warr e LLITEET @eQU|SIT LD WFRISETTEGLD

(D) eupar warr e U LulTsEr @i L LIRGETTELD
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91.  Rapid removal of field heat from the freshly harvested fruits and vegetables is called
(A) handling

(B) wrapping

M pre-cooling

(D) waxing

smisd whpb Upksald SpamLsEldar auwd Caeflé GreaL o Langurs senflLiugeflen Quuwir
(A) eswnERsD

B) Curisgize

(C) eLen-@elieilgzse

D) Quye @@56

92. By reducing the Oz supply available to the fruit and by increasing the amount of CO2
around the fruit — method of storage is called

(A) Air cooled storage refrigerated with ice
(B)  Air cooled storage

Refngerated storage

M Controlled atmospheric storage

Qggﬁdr SEedlEgen JjeTamad G®DSSHID COz Siareel siflafsg b Callliug eraiaums?
Q) @elips sTHmID BV sSwHE Calliy

B) @efips srHp Cabliiy

(C) @afit Cafliy

(D) GLDLbU@QgDULL_‘G&Lﬂl'JL]
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93.  In which method of propagation the mother plant is cut dose to ground and the new shoots
covered with soil at base?

(A)  Ground layering
(B) Tip layering

m Mound layering

(D)  Trench layering

ps (perp eflamguiioan QeariAumsssSad smii b sy wi LG Qeul L Oul () <isen saflitser
SlgUUGSID wararTe epLLLGEDS?

(A)  werr uwen

B)  pefsferar uwen 5

©)  wewr @elwe uHwen ¢

D)  Homeuuer

94. Which is the modification of etiolation method?

(A)  Trench layering

m Stooling

Tip layering

(D)  Ground layering

SpanamucibpieT s apenp gafludidem uwens Gaedlen wrHmb G L Qe ?
A)  dmeguuldpsa

(B) sméwenen uSwubl g

©) Aaer mafl LB

D)  wver uHLOESD
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95. The media used in air layering is

(A) Farm Yard manure

M Sphagnum moss

(C) Peat moss

(D)  Sand

eflar uflwensafla, Ceurr 468 eTbs euans sar_sib vweruRgsuu@&ng ?
(A)  Qsmup 2gib

B) evursenbd Lrd

(C) Siurd

(D) wewred

96.  In Inarching method of grafting the grafts can be separated from mother plant in
(A) 1-2 weeks .after grafting

(B)  2-4 weeks after graftiﬁg

m 6-8 weeks after grafting .

(Ij) 8-10 weeks after grafting

U&s @L(H& sL_HbCurg LU (Hésamer GrUG‘urrgl smu wrsde Ambgl AN&sMD?
(A) : 1-2 aumrgruser
B) 2-4 cunpraser
(C) 6-8 cumprisser

D) 8-10 eunprisser

= 37 . HORD/18
[Turn over




7.

98.

Urea fertilizer comes under
(A) Nitrate

.(B.) Aﬁmoniacal

@GN Amide

(D) Nitrate and ammoniacal

wpflwim 2_morers)

A) op Gyl s

(B) <owCuraflunssed eums
(C) siw ums

D) ep Gyl wHmb SDCLTEILTESD UMS

Example for non-edible oil cake
(A)  Groundnut oil cake
(B) Sesame oil cake

Coconut oil cake

m Mahua oil cake

2_awrenT @)uIems (S ewTenwTTéEHE THSHEST(H SHS
A)  Hess_me Garammsd

(B)  erer Gawremms @

(C) Qgemenar SlamanréE

(D) w@Eeur GearenTéiE
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(B)
(©)

D)

A)
B)
©

D)

A)
(B)
(©)

D)

Atrazine
2, 4-D

Glyphosate

Quasrig &g med e
<|L_g&le
2,4-1

BenerCGurGeaL_

100. Consumptive use of water is

Amount of water used in Evaporation

Amount of water used in Transpiration
Amount of water used in Evapotranspiration -

% Amount of water used in Evapotranspiration and plant metabolism

Bl maTUWET DjaTey 6Tg)
i A) elwurgb Bir
B) i Byred Curss
©) yewnge + uudi Byred Cunée

%aﬁlu_mgé) + uudi Brred Cuns@ + LuliT euatéleng LTHDLD

39

99. What is the pre-emergence herbicide recommended for Tomato for weed control?

W\ Pendimethalin

sasraflude semer s_HUILT.(HEE Smer (panaté@Ld (e (gallEs snig L smeré@aTaed e1g)?
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101. Fertilizer Material which contains all the three primary nutrients are designated as

——— in which there will be changes in chemical composition

M Complex Fertilizer (B) Mixed Fertilizer

Fortified fertilizer (D) Compound Fertilizer

epenm Nygren Lulisesgsamans Qarar. Caududwe rHHSSHEL UL L 2 gb
(AY  smbliatée 2 gib B) souyogw

(©C) oa’L Gopilw o gib (D) seeeu o gbd

102. The salinity hazard chart of quality of irrigation was given by

w Richards (B) Siemens
(C)  Russell (D) Brady

ungen Bflen 2 euigenanio e emw Qeuafludi L eur

@) Rk (B) B
(C)  pev@evéd , D) Qgmg
103. INM includes ? and

\M Organic, Inorganic and bio fertilizers
. (B)  Organic, clay and bio fertilizers
(C) Inorganic, sand and organic fertilizers

(D)  Organic, silt and inorganic fertilizers

pomdomarbs Lliess Cuooraremn e

Fweupeny 2 arer_sHlwig
A)  omss, semss HHID 2 W 2 FrisET

B) omss, safl HHD 2 Wi griseT

C) samss, e HYILD S|k&S 2 JESET

(D) <oss, euat 6 HOHID SQTESES 2_[RiSET
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104. Plant nutriénts required in large quantities are called
Macro nutrients
(B)  Micro nutrients
/@)  Beneficial elements

(D)  Functional elements

<fs oerelle vlr  aeriéflag Csmeaulu@b LTEsSgISHET ereumm)
Simp&siLHflermen

A)  CueplLéssgissar
(B) @@T@m’_L_éaggimdr
(C)A LwIggeTaT &ggjé;,&a"f

(D) eflewanuiwic sHg&seT

105, —————— is a structural component of nitrogenase enzyme which actively involves in
nitrogen fixation

M Molyb&enum :

(B) Boron
(C) Iron |
(D) Zinc

srpdlayerer sapsssms wemaild Hamafnssssmyw Apriu@urmenmer epLyrgGaadler qpédiw

SL_LenLoUiL L TEESST @D

(A)  wrellgend

B) Cumymen
© @mwvy
D)  sssprsd
b 41 HORD/18
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108.

109.

110.

In storage godowns, the quantity of aluminium phosphide 3 gm tablet required for cover

fumigation of one tonne of grain is

a) 10 \an’ 3

© 5 O 15

Cafluy dLigsalle @m La ey sraflugms apLtég weopuled efeyaury Cegiss
GaeauliLBb 3 Hymbd erenLwjerer SAgfiaflub urdvenu® efleaasafien cramentlsma

A 10 B) 3.

© 5 , (D) 15

The markets which are all permanent nature and deals with durable commodities are

known as

(A)  Short period market
(B)  Periodic market

(C) Long period market

M Secular market

BawrL sreb AsLrg AurmLsme elp@b Howwurer shos Geiaurm SHuULLGD
A) GonHssTQ sHDS

B) sre jereilemer 5§>mg,

(C) BawL sre sHs

(D) evdlyworen / Hemeowren s

A market in which goods are exchanged for money immediately after the sale is called the

market.

(A) Short period - (B) Secular

M Spot (D) General

QuT@LseT LaTEHNE L g wins UL Heur Qeuwiiu@ speoguler Auwi

A)  errl SAwc (B) Qeawer
(C) evum (D) Qgenye
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111.  The type of farming where crop and livestock enterprises are taken up together is known as

(A)

Specialised farming

Diversified farming

M Mixed farming

(D)

Dry farming

Ll LHYID srOBLSmET RHEmansg QaudUHb LaTamaRT P eTaTLIZ)

A)
B)
©)
()

112.

A)

GysHCs LigimenenTpepm
LIT6Ue / Leeuens LIGTenamT(Lpenn
FHeoLiL usﬁrmm@mp

wrermeuril LickTeneTeD

'

risk increases with increased amount of borrowed money in the farm business.
Price risk

Production risk

M Financial risk

(D) Marketing risk
uamenean Ggmflelle s oiflafse@n Gung 2ifafadng.
(A) efene UMD
B) 2.pusd sumwb
© HP sunub
D) sBosHs0 SUTLILD
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113. The elements Audience and Response were included in
Leagans model :
(B) Berlo model
(C) Aristotle model
(D) Schramn’s model

Cai_Curit whmib uHieT EW sapsmer AaTamr uﬁ@nﬂ
(A)  Ssenev wrdHf

B) QuiGemr wrgf

(©)  oiflevLmge rdfl -

(D)  eiggmbd rFl

114. Find the odd one related to source of extension communication
(A)_ Extension Agent
Research Institute

M Radio / TV

Universities

Sipsam_aupBle erg Ceuermei fleurés SHeue Ggm_r'rq APALD DD
(A) Afeuréss SiQieueiser |

B)  <ymiFs Hleveowibiger

(€C)  eunQanmedl / G\grrmo)éém;é]

(D) ué)&sna)é&gp&rémdn

115. Credibility is related to
Communicator (B) Channel

(C) Message . (D) Audience

BOLISSSEELD TS| SDSTERID Ts@ILan Qg iienL Wl
(A)  sseue sHUGT (B) Ceered
(C) sseuaser (D) Gar_Guimi
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116. How many layers of Paddy Straw and Spawn layers are present in cylindrical mushroom

bed?
.g/ 5 and 4 ‘ (B) 4and5
(C) 6and4 (D) 4andé6

2-Beman sremmer LB smsseile) erggsmen Gpe aausGamd OYID sraTTen 6558 o HEGS6T 2_drarear?
A) 5 wpmb 4 (B) 4wpmwb

(©) 6 whmw 4 (D) 4wy 6

117.  pH of the casing soil used in milky mushroom cultivation
A) 5.3

(B) 6.3
© 18 O 83
umesmeTan auamiided LweLHSsUHL CopLiés weamallen smy Sflossemain

@A 53 (B) 6.3
© .73 _ D) 83

118. Identify the fungal diseases of mushroom
(A)  Brown blotch and ink mushroom
B) La France disease and watery stepe
(C) Calve brain and Rose comb
M Dry bubble and wet bubble

sremesle) Comenmid samr Crmiiser

(A) LUy SILG wHmid GU®UE STaTmen

B)  Qgrenev Comis HHID Gemanti e (H

©€)  apewar gy Gunemp Camdmid wHmD Grrggm Gamid

D) eef@Bp Crmi whmib Fr&@GWH Crmi
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119

i

120.

The seed material for mushroom cultivation

(A)

Spawn

Mother spawn

M Bed spawn

@)

Foundation spawn

STETTEN GUETTES LIWeTUBLD edlang

(A)
B)
©
D)

cflg)
smi eflgg,
U@ &ma ilgg

g LiuenL edl5g)

Which of the chemical is used for the surface sterilization of work tables in the mushroom

laboratory?
(A) Sodium hydroxide
(B) Mercury chloride

)

\/ Ethyl alcohol

Formaldehyde

srammen spiieusisaigidrar Goaguier GopuESuiiaman Qsmpmféstd Qe LweTuGLD Gremuend

a5I?
4)
B)
(©

D)

Gemigwib en@mL_yréemen (H ‘
Quir@f @Garmenr(® .
THHED OSADTED

LmTomedlq enam (b

47
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121.  Biocontrol efficacy of Trichoderma is favoured at pH
' less than 7.0
(B) more than 7.0
(C) 7.00
(D) 6.00-8.00

weny&Can@Lforelier o uifl s GUUNG Hpayse stsswner sTr HBwssETE@LD

(A) <70
@) >170
(C) 17.00

(D) 6.00-8.00

122.  Antibiotic compound secreted by Pseudomonas fluorescence
w Phenazine — 1 — carboxylic acid
(B) Carbondazim ) '
(C) Streptomycin
(D)  Aureofungin

&GLrGoramey LiGemmgenen 2 fHLigd Qaiiub pemq Lum iqé
(A) Qemdlen - 1 - sriursadeds oblen

B) srQuer_rfid

(C)  evgriGLrenwSlen

D) @ ALCWT LEhHen

123.  Dissolution of cell wall of pathogen by the enzymes secreted by biocontrol agents are

called as
M Lysis ‘ (B) Necrosis
(C) Antibiosis (D) Competition

adir 2. ufl perayuiisdr susdr Aprdsmer Qsram( Cpmis mBsailen Qed saiismer oo
QarOID 1penDéE —— eremy AU,

(A)  eawdlen - (B) GOpaCGyréav

©) <yenguCurden D)  Cum_iyiiGurhse
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124.

125.

126.

Finnest wool is produced by breed of sheep.

(A)  Suffolk M Merino

(C) Dorset (D) Polworth

o wit & Qéeiw sbuer 2 Grmob HHd @abwBlum igerd

(A) &Curs (B) QufiGerm

(C) Lm@el (D) Gureleurid

Average litter size of sheep breeds of Tamilnadu is

f 1 ®) 15

2 D) 25

SO PHT g6 AebwHlur® Gembisaticn @@#g’);ﬂs’u FF@hb gynef @l iy saflan cramantlEms

@A 1 - ® 1.5
© 2 D) 25

"Babcock" is a commercial strain of

M Layer poultry

(B)  Broiler poultry
(C) Meat type duck
(D) Egg type quail

“GUUIBTE" eranu@eug Qurmermgry FHwns aenissLuBL @
A) Lo Csmf

B) @wp&s Camg

(C) Q@en&s cums aunsg)

(D) @pLlenL auens Smen

49
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127.  Enterotoxaemia can be prevented by
Vaccination
(B) Deworming
(C)  Better feeding
(D)  Better housing

giem@ponfl Crmis eurmod gelliés Hpps e :
A)  sduLA Cur@se

®B)  ©-buyw bssd Asge

©) Aops Sauer Guaramenin

(D) g Qs Lems Coerarano

128.  Ecto parasites of sheep and goat can be controlled by
(A) Deworming

Vaccination

M Medicine dipping

(D)  Better feeding

Qe wHmb Aeudrarm@aefa Lp gL Panafsmar s HULESSID (pen
@) @-Huw bssn

®) . pough |

© wvmbsH sarsda B Hs@eT Heness

D) Apps Seuamoafisze

129. Which one of the following is a exotic goat breed?
(A)  Ganjam (B) Surti
M Saanan (D) Tellicherry

Spaam_aupfle> erhs @eng Geuafipm iy et Gaserarm(?
(A)  sEpabd B)  smsd
(C) Gsemen (D) soasGsf
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130. Feeding of extra concentrate prior to breeding season in sheep and goat causes
(A) Increased ovulation
(B) Bring more animal into estrus

(C) Increase fertilization

‘M All are correct

@asCsisms stasHnE ey @ebwodl wHHID QeudramHaEéEE SiLiT Seuand sHm ASHLTS
QarEULSTO gHUHeuS '

A) =dssmeplaL 2 g

B) <=fs s AoaLBUSHDEG aIBSD

(C) =fssmsiiuy

(D) CuhHsar. S@aEgID

131. Optimum environmental temperature for rearing broiler poultry
(A) 20-25°C &7 22-30°C
(©) 31-32°C (D) 32-40°C

Beopéd Camp auaTTiILEH G 2-&HS SL-U Q@eutiuid ‘
@A) 20-25°C B) 22-30°C

(@ 81-32°C (D) 32-40°C
132. means placing freshly harvested flowers for a relatively short time in a

solution to extend their storage and vase life.
(A) Hardening
P’ Pulsing
(C) Dehydration
(D) Rehydration

apeam. Qaig QsmiLQTEmAT g6 werFfgsaew wHmn GCebliy prsmer < fafés
QetILED PEDEHE — ey Guwi.

@) syeiLsEED

B) uodln

(C) eoman’ Grger

(D) fevan Grrggen
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133.  Which is used as thickening agent in preparation of sauce?
(A) Pepper powder (B) Salt

M Maize powder (D) Sugar

#mev swrilsen Qumps Qa1 UURSSNIEE LwaTU@LD Qum(mar erg)?
A Berg grer B) 20y
C)  wasrsGsmer grer (D) srasery

134.  Which chemical is used as pre harvest spray to enhance self life in Mango?

M Calcium nitrate

(B)  Calcium sulphate
(C)  Sodium chloride
(D) Magnesium sulphate

wredler SpeuLESG pHHL umeugsler eremar mHHmen Ggeflgg LwpsHen YU ETOSMS
2 fafssemb? '

(A)  srédlub enpL Gyl
B) sroflwuw saCul.
©)  Comguwid GCamreny(®
D) QuseNdwbd s

135. Which chemical is used as a preservative for fruit juices?
Sodium benzoate
(B) Calcium chloride
(C)  Sodium chloride

(D)  Potassium nitrate

Lpresdibé® uweLBSEILED USULESHL LmbS) arE?
(A)  Gemguwib QuenGsmGuir.
B) srodluw &Cermreny ()
" (© Gemqwib @Ceatmany(®
D) QuriLrfwib Bl G
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136. Leaves senescence and fall, soil cracks are major maturity indices for

(A) Lima beans

(B) Brinjal
(C) Tomato
Tapioca

@oe smieug, 2Fieugid WHHD Wwer Qaugliyd ehs STLSH SipeumLES phduwrer

GaTdswisas smsLILEEDS
A)  elibion Sered

®B) a5

(C) s&amafl

(D) wreuerefls Spms

137. Marmalade is prepared from
(A) Grapes (B) Apple

‘V Orange (D) Papaya

wrioGe® abs Lpsddmbs surissiuGans
A) Somiens (B) puber
©) rers D) wdurefl

138. Following one is not a viral disease of horticulture crop
(A) Bhendi yellow vein mosaic

Cardamom katte

\V Brinjal little leaf

(D) Cocoa swollen shoot

GenaupeuameupmiaT @arm Gom L ssme Lulisafes Ggrengyib auyev Gpmi Gdme
(A) QeuairenL @H&eT BLdL GHLOM

(B) geowslioL

©)  spsh Apflow

D) CanGsr san(® &5
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139. " In bhendi, for the management of fruit borer no.of pheromone traps installed/ha is
A 20 B) 25

@ 12 ®) 5

CeuamrenL smiisgeeniurener SLOLUDSS @ T (HEEG — Qengseuirsd) Qurdlsaner

Blmieu Ceuem(@id.
A) 20 (B) 25
© 12 D) 5

140. Presence of ridges on the stem, yellowing of leaves and wilting of branches in coffee is due to
(A)  Red borer
(B)  Shot hole borer
(C) _Berry borer
White borer

&9 Qeguie, sar@aen euemarnuid Gumenp Guo@aer, wErsermer @mm&e& LHMID STUHS Senerser
L& sré@sdlen s EHLTELD.
A) ey giearciLimer
B) Ay giewar grewemiiLimen
"(C) Qsrien SienarliLimesr

D) Qeuamenfip SlemeTLiLmes

141. Whithering and shedding of flowers, presence of honey dew in lower leaves and clicking
sound while disturbing in mango is due to

(A) Mango nut weevil
Mango hoppers

(C)  Mango mealy bug
(D)  Mango white fly

LYESEHD, U Qur. (aEsd smese, 3y Goesaile smb yeamrd UL 3D, Sp 855D eumseD
Gurenp <if@Haer wrefe gHudeug DD D@D, ’
(A)  wrQsT_enL sneir cuesT(h

B)  wrssgILES
© o eyl &8

D) wrQeudrenar r
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142. The fungal pathogen effective against coconut rhinoceros beetle is
(A) Baeveria bassiana

(B) Verticilium Lecani

M Metarhizium anisopliae

(D) Hirsutella thompsoni

Qgenenen smeRTL O[S euaiurqtj)@ ayrs LWETLRSSILOL LyEHFTERTD
Q) QuGaflwr CuAwirer

(B) Qaigfelub dasraf

(C) Quiregedlwb senCGemiedliCGu -

D) afliECLder gmbliCsraf]

143. Which one of following is not a true rust disease?

MMango red rust

(B) Bean rust
(C)  Onion rust

(D) Coffee rust

Qemaugpid Cpmiiseafie arg) o a@manidwiar SIMmGHTL SHw?
(A)  or sty gim Gpm

(B)  Semev gim Cpmi

(C) Qeursmw g CHmL

D) sm9 g Crmi
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144.  Which of the following is not used in plant disease management?

(A) Trichoderma

W Trichogramma

(C) Pseudomonas

(D)  Bacillus

Qeneupeueraupmier orgl Ludi Grmis fireunagHe UweTLBSSLILL ML g ?
(A)  gersGerQLiom

(B) gersGardybwor

©) ECLGwremen

D) Cuéleesv

145. What is the toxicity level for the yellow colour triangle in the fungicide container?
(A) Slightly toxic
Moderately toxic

W Highly toxic

(D)  Extremely toxic

yeasdane s Quily Si0og LT igoseaid GO erer wEhseT Hp &ECared e
UG hEMES @GN EEGLD?

A)  Ogwren pés

B)  pOssy pés

© a@asuulq.u.maﬂ ‘[béé
D)  fs afsiiugurer pis

146. Who invented Bordeaux mixture?

Gy | Fensen ' q{ Millardet

(C)  Robert Koche (D) Luthra

CumiGL s@e@aimw s Ssaui wmi?
(A)  Qgpensen ‘ B) WBeoemi i
(©) grurl Ceré D) asdym
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147. Little leaf of Brinjal is transmitted by

(A) Mites )
M Leaf Hoppers

(C) Aphids

(D) Ants

&55M fipHlee Crrenw uvuqm.géeﬂasdr
A) SAepdser

B) Qoo ssELILESsT

(€C) osadafiser

(D) agbysar

148. Which of the following disease is managed by using pre-immunized seedlings in citrus?

M Tristeza

(B) Bacterial canker

(C) Gummosis

(D) Greening

agiiiFmsuder Gpmi GsTHH AadeE QuDp saTmEmer 2 LGUTELILPSGEUSTD EPsETL THS
G{r_r,rrémas@@ﬁu@{sgwmb?

A) pedley Gpmi

(B) umsleflwe® Qe Crmis

(C) Yfler augsed Cpmi

D) wsmswnsed G
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151.

152.

153.

Arabica coffee is grown in the elevation of

M 1000 — 1500 m MSL ’ :

500 — 900 m MSL
(C) 1600 — 1900 m MSL
(D) 1900 — 2200 m MSL

2n9&sT s s Gr‘r,'r,gimsnm 2 Wb eueny MGG Qeliw HDg)
(A) 1000 — 1500 18 &L_c wL LSS BHS!

(B) 500 — 900 18 sL_6» L FHN®BHS

(C) 1600 — 1900 18 &1_¢ wi LS (®HS!

(D) 1900 — 2200 18 &L& L 5 (®HS!

»

In coffee Arabica, training in single stem system is done in a height of

(A) 40cm (B) . 50 cm

(C) 60cm \V 75 cm

ordssr sm9lé gpons G658 popld FTEU Qi aps e wrsde siLeoly Gl

Geuanr(HLd
(A) 40Q@&.8 (B) 50Qs.8
(C) 60Qs.8 (D) 75Qs.8

Aloin is present in which part of leaf ?

A) Gel
(B) Rind

M In between Gel and Rind
(D) Spines

<2 Goomlen Gemhmé sHoTeUTen Gaauder ariuEHude QHBEELD
(A)  Qge (sip)

(B) Gsmev (Mesor)

(C) CorauéEb QROWESWD Qe ulled

D) L safle
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154. How many month Kalmegh seeds are dormant?

% 6 ’ (B) 12
(©)

18 D) 24

THsman wrgmiset HleCaby efamgsdr 2 DESESFIL 6 @) (H&ELD.
A 6 : B) 12
€ 18 (D) 24

155. Bush pepper is produced from
(A)  Orthotropes
(B)  Geotropes

(C)  Runner shoots

W Plagiotropes

&858 Barg e mps) 2 Hugs elwuiiu@épg.
A)  isCsmg ey

B)  BCumgymiey

© ebsan®

(D) L‘ﬂmrr@(la’u_lrrlq.mrudu

156.. The major alkaloid present in periwinkle is
(A)  Withianin

B~ Vinblastine

(C) Forskolin
(D)  Phyllemblin

BéHu sdwresflude: o arer Goudlls QuimpeT QUi eremen?
(A)  Agwnafer

(B) eflemSevmaig e

(©) CGurievCsreder

(D)  uverenbafien
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157. Choose best planting material for commercial production of vetiver

158.

159.

(B)
©)
D)

Slips
Seeds
Cuttings
Seedlings

auafls FHwrs Qeuly Gaur sT@Ly Qalw Spbs HL-o Qum(meT crewmen?

A)
B)
©)

™)

avadlLien
cllengaer

Q&g giawr(Hser
BIHHISET

Cardamom belongs to the family of

A

©
D)

Fabaceae
Zingiberaceae
Apiaceae -
Myristicaceae

gessTL aTHs GHLUS®S STTHSS)

A)
B)
©)
@)

GuCudé

8 éACLGTS
gACGw&
Birevig Caél

is considered as a store house of plant nutrients.
Clay

weimenfler Ludiiéesgisaaman o GramsHw eS6 aranp@sILPag TEI?

(A)
B)
©
)

safloer UGS
wenre) LGS
sflol uEs

cuaTL LGS
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160. Name the plant which is planted as specimen shrubs in Lawn.
Thuja Orientalis
(B) Jasmine
(C) Marigold
(D)  Crossandra

Hageyuiler lseyb wrdlfl sreugons pL LweLEWL Qaig g

(A) & eflwer_melev s
B) wadlams
©) Qseaupd -

D) sensmbuyDd

161. The standard for cut chrysanthemum stem is
A) 30cm \m/ 90 cm

(C) 120em (D) 150 cm

YECsTss Aeciounhd waisdr smby : Bemb Qmés Ceuair(Hib.
A 30Qss (B) 90Qs8

© 120Qs8 D) 150 Qa8

162. The lower portion of the triangle in the container of highly toxic insecticide is
in colour.

(A)  Bright red
(B)  Bright blue
(C)  Bright green

Bright yellow

2fls aflegsgeremwwarear LsdsGsmaes wopHear Qsrarsoafs o drer w&Caramsflar SpuEd

B0$8ed mé 0.
A Saiy
B)  feid
(C) | udame
D)  wepser
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163.

A marginal farmers has 30 cents land and he want to raise pitchi. How many plants he

required for planting
(A) 1000 (B) 1080

©) 400 7 1200

R GO 2-euit 30 Qaen’ Hleb meauggerermi. oHd 968 Yeueriébs mwySori. QsDéEE TSSme

Qagser CoaneuiL(BHid.
(A) 1000 - (B) 1080
(C) 400 (D) 1200

164. Chooee the season of pruning of Gundumalli

165.

Last week of November
(B) Last week of December
(C) First week of November
(D) Last week of January

ThE Lmeu STsHd GamHadamu saungg Geliu Caam (L.

(A) peubur semL§ eumd
(B) igsbuir saL§ eumyd
(C) peubur pge eumyd
D) gareufl saL_8 qurgd

Choose pruning period of mullai
(A) Last week of November
(B) First week of December
(C) First week of November

y Last week of December

aTibs Lseu STsHd phme Ller saursg Galw GaamGo.
(A) peubuT L& euryd

(B) g&bul pge umrbd

(C) meubur PG GuTHLD

D) yebuTsmLS euryd
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166. How many days after planting the GA 50 — 100 ppm is sprayed on tuberose? {
M 40, 55 and 60
30, 45 and 60
‘ (C) 25, 35 and 45

(D) 60,90 and 120 -

souBdua pLey Qslg arssman Brlsdr 5858 &).er 50 — 100 990 QzaflEs Ceuar(Hid
(A) 40, 55 wHYD 60

(B) 30, 45 wpmb 60

(C) 25, 35 wpyb 45

(D) 60, 90 wHmd 120

167. What is the propagation material used in turberose?
Bulb (B) Corms
(C) Tuber (D) Seed

Hleé sbumidl pLeyse@ egmen L sgdeamani?
(CVRNCTT | (B) pean(éslpne
©) Aupneg | (D) &feng

168. Choose concentration of ZnSO,, FeSO, and Bbric acid to spray on tuberose crop

(A)  0.5%, 0.5% and 0.1%

P 0.5%, 0.2% and 0.1%

(C)  0.5%, 0.3% and 0.05%
M) 0.5%, 0.4% and 0.1%

Bles sbuidle Qamaanl o fors G s0CUL, Quyad soGUL HmId Curflé Sble THS THS
2jerefler Agefés Geuair@Hid

(A  0.5%, 0.5% wigtb 0.1%
(B)  0.5%, 0.2% wipgb 0.1%
(©)  0.5%, 0.3% wigib 0.05%
D)  0.5%, 0.4% wigid 0.1%

HORD/18 64 =




169.

- 170.

171.

Mango flowering takes place in Tamil Nadu during the month of
(A) June — July

(B) May —dJune

(C) Mar - Apr

,p’ Dec — Jan

SUPHTL_19.6) LD LS@ELD LI(HeuLDd
A) g9 - n9me

B) Cuw- g9

(C) oniE— grlged

D) g&-ger

Regular bearing variety of Mango grown in Tamil Nadu is
(A) Ratnagiri
(B) Himampasand
(C) Banganapalli
Neelum

SUOPHT 146 euHLBCSTHID LSSIS SMUSSLD Lor QrsLd
Q) gsendifl

B) @umbusns

(C) umserluerefl

D) peow

Spongy tissue is a common problem in ————— variety of Mango.

‘A Alphonso

(B) Rumani -
(C) Mulgoa
(D) Bangalora

LIEHa Hassear — o Qrssdle sidsbd urdasiiuBEng.

(A) Curensr
B) mwrefl

(C) weaCsmeur

(D) Qumisesym
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172. Bacterial wilt resistant variety in Tomato

<« BT1
(B) Pusa 120
©C) H-24

(D) Hisar lalit

ungeflu eur_é Cerullener grid euer(Hid sésTafl F&L 6Tg

A  YGg-1
(B) yer-120
C) e&-24

(D) ablert orells

173. Write the chemical used for flower induction in Tomato
M 2 — chloroethyl phosphom'é acid
(B) 2 -4, dichloro phenoxy acetic acid
(C) 3, Indole acetic acid

(D) Parachloro phenoxy acetic acid

sésnafilier y o pusduiemer SFsILSS abs Caudlufwed Qummer LwearLGEDS)
- (A  2- @CemCyr Qevged urrduu'rrasﬂés <|bled

B) 2-4, &@LECanmCGrmiamss 28 igé e

(C) 3. @aCLmer 2196 an.ﬂg)tb

(D)  unGprECamCyr YenmsEs &L 196 leid
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174. Spacing requirement for tomato var. Co3 is
(A)  60x45cm
(B) 60x60cm

(C) 45x45cm

M 45 x 30 cm

sésrafl @ys Co3 &@ Casameuwnar @en_Qeuaf erenen?
(A) 60 x 45 Q&.15.
(B) 60 x 60 Q.15
(C) 45 x 45 Qs.b.

(D) 45 x 30 @&.15.

175. Which is an important pest of brinjal?

Mhoot and fruit borer

(B) Diamond back moth
(C) Bud borer

(D)  Fruit fly

sgglﬂa;ug STEGL Wafwwren &8 agl?
A)  s&r® wHYD ST Fienem LT
B) @y psE U
(C) yssmer amGED cua(®

D) uyem
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179. Mango hopper can be controlled by spraying

(A) Neem oil (B) Monocrotophos
W Wettable sulphur ' (D) Mancozeb
wr $5&I0 LFflow s__HUUBSS Qgeflasemb
(A) Geuliu eremr@ewri B) CurCerm@CymLmume
(C) peenb sHSHD . D) CwraCsrbsl

- 180. Pusa meghdoot is a variety in
Bottlegourd ' ‘
(B) Ashgourd
(C) Bittergourd
(D) Cucumber : y 8

e Quags eramug erpsls Lulfle QeuefllliLul L Grsw?
(A) s@rssmU

(B) smbued ygenfl

(C) unspasmi

D) QeusrerMsmi

181. Yield of dry chilli of PKM-1 variety is
(A) 2.0t/ha
(B) 2.5t/ha 4

M 3.0 t/ha

(D) 3.5t/ha

GGserid-1 Wlersmudlen & Ee LG/ 6Tés.
(A) 2.0 Leir/eré
B) 2.5 Len/ers
(C) 3.0 Len/eré
(D) 3.5 Len/eré
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184.  The Arid regions receives rainfall of mm for the 2 — 41 months in year.

w0—250mm

B) 300 -500 mm
(C) 800-1000 mm
(D) 1500 — 2000 mm

auparr GrCgamiser 8.8 weypuaeimer 2 — 4% mngﬁaaﬂd) @ DRI 6D
Qupdlenmerr.

(A)  0-250 8.8

(B) 300 - 500 .8

(C) 800 - 1000 8.8

(D) 1500 — 2000 .18

185. Choose example crops for arid or semi arid region.

(A) Pineapple (B) Banana
| © Jack P Ber
SpésnaTUIRTADNIET UDETL. OO LISLOTET UDEITL LDERTL DRISEHES TDD uleny Caitey Qewls.
A) semamAlud B) ey
(C) uer ‘ D) Qopeos

186. Choose the example for humid zones fruit crop.

(A) Apple M Litoki

(C) Pear . (D) Custard Apple

SpssnamUeaneuppIET FrLTaT WM wSSHE gHp Ll LWl 6TgI?
(A) Qe _ (B) A
(C) CGufssmi / (D) é&smuwb
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189. In which fruit crops fruit buds always borne adventitiously in old trunk or shoots?

(A) Grapes - (B) Mango
(©) Waln_ut | ] M Cocoa

abs Lo y Qur@sdr alUQuUISID LSS SEIGsETD LMWL Bl wruugdlsefle (sam@)

Camemmid?
A) Syriews (B) wnr
(©) eumemL (D) Qsr&Csm

190. A banana variety completely ruin out by bunchy top disease in Palani Hills

(A) Red banana m irupakshi

(C) Raja vazhai } (D) Neypoovan

apg5QsEE Crmleame Ll o LGHsaild wHHIGID SPESLILLL auTemlp @rsb
A) Qep@smpeuen B) efuursad]

(C) gy arey D) Qpuw yeuen

191. Choose the crop in which stooling method of propagation is followed

(A) Almond (B) Pecan nut

(C) Brazl nut Mpple

ahs Ludfa sraweer uHLLLHSD s &5 0EDS?
(A)  umgmb B) Quésrer Q&m e

(C) WCGrfle QamienL D) <yuder
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192. Choose the crop in which tip layering is followed

m Black berry

Rose
(C) Jasmine

(D) Gymnema

Spsnamuapile erps LM pefls Aaer LU P s GgsaluBAng?
(A) Qerrs Qui

B) Cgrgr

©) wvodaws

D) srssars Qamaed

193. Burring of apical end of current season shoot is termed as
(A)  Air layering
(B) Trench layering

Mound layering
ﬂ Tip layering

CBruy uges gefifler mefll ugdeow wearefld yosss Qg 2 Hussl Qslgme ereueummy
2@P&sULHEng?

(A)  eflawr uHwen
(B)  Hereufl ugrer udlwien
(O  war @ewe uduwer

D) mefld udwen
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194.

195.

Sorghum halapense is

Annual weed

W Perennial weed

(C) Biennial weed

(D) Broad leaves weed

EREEETLIG) CTEITLIG)

A) @rmawm® semer
(B) ua’)wrraiar@ GG
(©C) rmymewr() sener

D) sisem Qe semar

Rock Phosphate comes under

(A) containing water soluble phosphoric acid

(B) containing citric acid soluble phosphoric acid
m containing phosphoric acid not soluble m water

(D) containing malic acid soluble phosphoric acid

gré urevGuL (Lrenp walFssg)) arger Sip QUTHHSIDL?
Q) savatfe samyussmgw ureuris sulen

B) AlAs suflesHed samyussnig urevumfé uflewn
(C) sawmentiled SIS umevumilé Sufleon

(D) wrels SfwsHe samrub urevurflé Siblen
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196. Aluminium phosphide is a
(A) Stomach Poison

m Fumiganf Poison

(C) Contact Poison »
(D) Systemic Poison

Sigbflaflwib urevenL® erarug) e m
Q) G pEs

B) ey pess

©) Qzr® BErs

(D)  ea@B@meill LT HEHs

197. Efficient use of irrigation water in crop production solicits
(A)  When to irrigate
(B) How much to irrigate
(C) How to irrigate

m All the above

Ui erguIguile @i Fymer BT LTseD eraLIS)
(A)  euGurg Brumissgse

(B)  eréueuerey Brumiissge

©) e Brumissse

(D) Copeamdu smanssgid

198. What is the total depth of irrigation water required if a crop having 100 days duration,
irrigation at 10 days interval with 8 cm depth

(A) 100 cm ' (B) 800 cm

(C) 8cm d\so cm

100 prer LumEE, 10 prisear e Qeuafiude 8 Qs..8 ammmm ;Srr Umi&sD Gurrg QLU mES
GCaeeuliLiHib Awrss Linsear Bflen oiere, eremean?

(A) 100 Qa8 (B) 800 Qs.i58
(C) 8Qs.b (D) 80 Qa8
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